1. 9™, g 91 3fequy - W waigf 1 9ay yid &% | 1. Appam, Puttu and Idiyappam - food items,
S X \ = . belong to which State of India ?
AR (1) Punjab
(1) us= (2) Gujarat
(2) TR (3) Orissa
(3)  fewm (4) Kerala
4 @ (5) Not Attempted
(5) W A=A |
) . 2. Which year did India attain freedom ?
2. 9RAH R o e e gg 2 (1) 1930
g; oo (@ 1950
3) 1947 (3) 1947
4) 1951 (4) 1951
(5) I TE T =EY | (5) Not Attempted
3. (1) 732211 # ATER, IRT 1 Tera o g 3. As per Census 2011, the literacy rate in Indig
4 1S !
(2} 78.0 (1) 73.0
(3) 88.0 | 2 78.0
(4) 83.0 ) '
5 5 2 R (3) 88.0
4. v F B o () Not Attempted
(1) 6371 &4, 4 .
. What is the radius of the earth ?
(4) 2371 fws, (3) 9371 km
(5) S & = (4) 2371 km
ST R o e S v i 9 ©) NotAttempteq
(1) iy fiye ' 5 Who is the authg f & Tri
(2) o British India’p ¢ 200k - ‘A History of
(3) e nRTae (1) James Mill
B S TR | (i) Lord Mountbatten
6. A INE ¥ g n_— :5; Lord Curzop
fim IR w9 F iy Not Attempteq
TSI ; 6. W
((21; . Gglrfe;jr: ed as free India’s first Governor-
TR T vy 73 v
(3)  wam sy ‘ g; C. Rajagopalachari
(4) Ve o e o) ;[a:iar Viiat;hbhai Patel
5 = ( ana a
ATI'(I )G T ! . (4) Jawahar Lal Nehru
WAt |
6 B 5 e > SPAEFOJL\NM Attempted -

R ROUGH WORK : Page 2



7. ‘CE’Yad ¥,

(1)
()
(3)
(4)
()

(1)

(2)

(3)

(4)
(S)

P 31 e
FIF T
RlERy
F T

IR TR =Ry |

aﬁzomﬁuﬁwgq‘afws‘augq'maiw%;

ﬁsﬁﬁﬁﬁfwmﬁwﬁaﬁﬁ
o Y, e qen Yamd wem w )
ﬁaﬁa%m%wma%ﬁwwm
rehTeRToT e T o = ) S S
BT SIS bl FeRthToTett e qoTereing ot et
FaTd Y T |

s o=l 1 fnen yem w5

I TR <1 4R |

9. Tava e feaw T S & -

(1)
(2)
(3)
(4)
(S)
10.
(1)
(2)
(3)
(4)
(5)
11,

(1)
(2)
(3)
(4)

(S)

5 [

7 [

5 I

7 I

I T <A1 = |

Jedt ¥ IR 3R feord T 1 wed §

S

el

qgHSA

ATy

IR e & e |

T (MAA) Hreisr 1 Forgd ¥ 52

i 0 o] AR (TR e )
<1 o T (TR TSHIegE $TeT)
fereiifc 1 i o Weleh e (e
<R el & =ed |

VNATH/ G1
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10.

11.

‘CE’ refers to ;
(1)
(2)
(3)
(4)
(5)

Coast of Egypt |
Common Estimate
Common Era
Casual Era

Not Attempted

‘Mission Indradhanush’;
2014 is:

(1)

launched in the year

To provide information, commodities

and service to meet the diverse need of
adolescents.

(2)

To cover children who have been
partially or not vaccinated during
routine immunisation rounds. -

To provide affordable and quality
healthcare to the rural population.

To provide education to the deprived
children.

Not Attempted

(3)
(4)
(S)

World Environment Day is celebrated on :
(1) 5% June

(2) 7t June

(3) 5t July

@) 7t July

(5) Not Attempted

The earth is surrounded by a layer of gases
called :

(1)
(2)
(3)
(4)
(5)

Ozone
Environment
Atmosphere
Climate

Not Attempted

’ me ?
What is the full form of MgAct?;;gm
(1) Mother’s Absolute A te e
2) Mother’s Absolute At e:[
(3) Mother And Ad?lescc::n ]
(4) Menstrual hygiene
girls

t
ng Adolescel

(5) Not Attempted page 3
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12,

13.

14.

15.

16.

‘e’ Frefafag § 9 frge s w9, R o
T IeT S € 2 '
(1)
2)
(3)
(4)
(5)

e et fovafmmea wel erafteq § 2
(1) e

(2) T

(3) foe<dt

4) [GLCLEY

(5) S I < =ed |

frefafad § 9 SH- FEHe 9l FEh g
foreerl § Y= foren T fogen Sfaria a1 T
T3 o Yo fohan st 8 2

(1)  wfget T@mE

(2) HEAE HISH

(3) 9 =, S g

(4) od foen rfEH

(5) SR TE oA =R |

‘g’ e wRd o TR o H HA S € 2

(1) e

(2) 9=

(3) SWHW

(4) "

(5) ST < = |

afe ferdlt SAfeR T Jah hH HET 9 AL S, A TR
& 1 HIAH g 5RT fiheex fofam <l €, 31 9
STferd &l 1€ GehaT| I8 WishaT Shgarrd! © :

12.

13.

14.

15.

16.

‘Lugda’ is a kind of which one of the fOllowing
that is worn in Chhattisgarh ?

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) Not Attempted

Where is Jamia [slamia University situated ;

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the following refers to the
me introduced in all government

program . .
ols to provide children with

elementary scho
cooked lunch ?

(1) Mahila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

‘Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3)  Uttar Pradesh
4) Assam

(5) Not Attempted

If a person’s kidney stops working. T
cannojc survive unless their blood is filter
by artificial kidney. This process is called

1) SESH
((2)) (1) Excretion
o) ik (2) Dialysis
4 !\” 1 (3) Transpiration
AT .' (4) Elimination
(5) W TR <A1 9 | (5) Not Attempted
VNATH/G1 % &1 & foTu Z2a1er / SPACE FOR ROUGH WORK 7?9’-‘



17.

18.

19,

20.

21.

VNATH /Gl

(1) <

(2) wHEwm

3) aWiaq

4 TEF e

(5) SR 9=y
SR T TH.STE, 3578 1y 2
(1) 9™

Q) Tramm

B Uss

(4) 3™

(5) ST T IR

Th TGH THAA 491§ T= WA o g ) wey

%1 <o iR it 3 < e <0 A 2

(1) 100 HMi=R

2) 25 ¥HIHR

3) 50 IR

@) 75 qIAHR

(5) SR TR <1 =R |

17,

18.

19.

habitat ?
(1)
(2)
(3)
(4)
(5)

Pond]
Desert
Rainforegt
Grassland

Not Attempted

The SI unit of mass is -

(1)  gram

(2)  kilogram

(3)  pound

(4)  ounce

(5)  Not Attempted

A boy is standing at a distance of 50 cm from
the plane mirror. What will be the distance
between the mirror and the image ?

(1) 100 cm

2) 25cm

(3) S0cm

(4) 75cm

(5)  Not Attempted

— T gfsran § o o SO ®g TRt
HIEH 31|:qaaa| 'ﬁ < ) 20. No medium is required for transfer of heat by
:@WUT el 6 the process of
5 (1) Radiation
@) (@) Conduction
(3) Had (3) Convection
(4) Gl ER (4) Transpiration
d
< I (5) Not Attempte
(5) S < =rad
qaa oIt 8 i 21. and are water borne
diseases.
o 2RSS Hfg=gied 1 Typhoid and Meningitis
v aﬁ{-qqu\ o i ié rsentery
e (2) Beri-Beri and Dy )
2 (—q:ﬁ'aﬁ W (3)  Scurvy and Cholera
o e (@)  Polio and Rickets
: e e a3 l
(4) difadr SR [;@a@, B (5) NotAttemptec Seos
Sl i 7d & fere et/ SPACE FOR ROUGH WORK
5



22. Match the following :

M o . ()
@) ) - @ ~Weak S
' ()  wuSRE (A) Lam;" an ovary
B g ()  sierm B) Peta i) Leaf
(C) T ) (C) Pistil V) Flower
O fEdw v D)  Cresbs
-()
) (@)-am, B-0v) (©)-m, (O
(1) (A)-(IID), (B)-(IV), (C)-(11), (D)-(1) B)-(11), (©-0; (D)-(IV)
@) (A1, B)-, -1, ©)-1V) @) . (-, (00
@) (A)-QV), (B)-(1), (C)-(m), (D)-() @ B (©-(1v), D))
@ (A)-), B)-(), (©)-(V), O)-0) @ @-m, @0
(5) S & W (5) NotAttempted
| . . causes beri-ber
23. 23 el 3 HO a0-a0 S S 81 | 28, Deficiency of ———
disease.
(.1) foafmm A (1) Vitamin A
(2) faaif i B1 (2) Vitamin Bl
(3) fafcC (3) Vitamin C
4 fef D (4) Vitamin D
(5) T TR & e | (5) Not Attempted
24. freafeifan & & @i & wocl =l T E? 24. Which of the following is not the characteristi
(1) e () @ suretd of fish ?
(2) firer &1 Sufedfd (1) Presence of fins
(3) ot 0% i gl SR aeHR I (2) Presence of gills
(4) YRR % 9T 9T Ht qeT T fix ofk i@ o | (3) Long backbone with cylindrical body
PR BT BT 2 | (4) Head and tail smaller than the midd
. portion of the bod
(5) SR el A 9T | Y-
) (5) Not Attempted
25. TWRRERT A’ SR HFRUE K.
1 25. Hepatitis ‘A’ is caused by :
(1) J (1) Bacteria -
(2) faurg (2)° Virus
(3) HAR (3) Fungi
4) PSS (4)  Protozoa
(5) W Tl <1 9Rd | (5) Not Attempted
VNATH/G1 <% 1Y P feIw wamer / SPACE FOR ROUGH WORK e
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under

given in
given in

Column -1I

ST

Qs

— —

—+—

26. A Gmﬁ.“ q v o §) 26. Earthworms breathe through their
(1) TEEl (1)  Lungs
(2) verEAfeAl (2) Tracheae
(3) TIES (3) Gills
(4) == (4) Skin
(5) SR TE 3 = | (5)  Not Attempted
27. Trafafeq ¥ 9 e § e =7 TN e 27. Yeast is used in the production of :
TS ? (1) Sugar
(2) Oxygen
(1) HTﬁ (3)  Alcohol
(2) (4) Hydrochloric Acid
(3) AcHRA (5) Not Attempted
(4) EESHRIRES I
(5) W I < = | 28. Intheyear 2016, the Government of India has
Initiated a mission called
28. &4 2016 F UG WER Y Ak e ;\;l;i(;lélda proper Sewage disposal have been
(1) Ujjwala
& frar T B ) Udaan
(1) W (3) Swachh Bharat
(2) SeH (4) Namami Gange
(3) T=9 HRd (5) Not Attempted
4) FwHEAET
(9) I AR <A1 IR | 29. Match -electrical component
Column - I with the symbol
20, WY - 1¥ fed T fo sraeEl @ Wi - 118 fgg e Cdu“g’l’m :
T WA | AT HIT ; S
: . A)  Electric cell ]
WH -1 wWH-1I (
A ﬁ—gﬁ e 0 — =i= (B) Switch in ‘ON’ (11)
B) ‘o’ feufa d fmw (I1) @. position
(C) - Electric Bulb (1IT)
(C) foregd s (TIT) :{"E' (D) Battery (1v)
(D) EEy V) 1 Choose the correct option :
T forshed g (1) (A)-), (B)-{, (©)-am), (B)-IV)
(1) (A)-@, B)-, (O-), (D)-V) @  (A)-(), (B)-(), (©)-(1), (O)-IV)
@  (@-m, B)-0, (-, D)-V) @) (A)-V), B)-0), (-, (D)1
@) (A)-aV), B)-(), (O)-(1), (D)-(IID V1, (B)-(1), (CH-, O)-0
@ (A)-V),(
4 (A)-(V), B)-D), (O)-, (D)0 )
5) N & 2 e | (5) Not Attempte

VNATH/G1

< 1 b fe1C 2arel / SPACE FOR ROUGH WORK
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30.

31.

HIGET R % UM R e ¥ e igad
YEeht Tee TRR ST W & 2

(1)  <Terhdl

)  ufafwan e

(3) =

(4) i

(5) I AR T IR

9 &= A, B, C, D 991 E ST &1 31X Hg Fh TH
e § @R €, Ao stmaegs 7 & for s wA A &
‘), EHIESIRAN A, FaAE AR AR D’
i et B A H RAR?

(1) E
@ C
@ B
4 A
(5) SR & =R |

32. 9 37 &R & WS I STorafeerd w9 § fear war

33.

1 Emsll & W AN 1 999 H 9 SrER
ER] 1 AT F R TH 7fqof yrg a9 |

C P K T O E

1 2 3 4 5 6

(1) 3,51,4,2,6 \aoc’f/g%

2 21,5364 oA

3) 2,5,1,3,6,4 ¢ Oc’q\(ﬂ/

4 4,1,5,2,3,6 XC

(5) WG < EEA |

A Q, R F T F [ WE S, A Q, RV Fh
YR Haiferd § ?

30. The property of metals by which they can by

31.

32.

33.

beaten into thin sheets is called :
(1)  Conductivity

(2) Reactivity

(3)  Ductility

4) Malleability

(5) ~ Not Attempted

Five children A, B, C, D and E are standing in
a row, facing North but not necessarily in the
same order. ‘C’is to the right of ‘E’ and to the

‘left of ‘A’. ‘A’ and ‘D’ have one child between

them. Who is in the middle of the row ?
(1) E

@ c
B B
4 A
(5)  Not Attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

C P K T 0] E
1 2 3 4 5 6

(1) 3,51,4,2,6
2 2,1,53,6,4
3) 2,51,3,6,4
4) 4,1,52,3,6
(5) Not Attempted

If ‘Q’ is brother of son of R’s son, then‘how is
‘Q’related to R’ ?

1) &= (1) Son
(2)  =mET/AMA (2) Uncle
3) 93 (3) Grandson
(4) Cousin

(4) == WE/EE

= (5) Not Attempted

Tl <1 =med |
(5) SR oo

VNATH/G1
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34, Af fedl o § 25 3FRG ®I THaAR B, @ 39 T |

35.

36.

e HITCTIR i 2

(1) 3

2 5

@ 4

4 6

(5) UL TRl & =R |

B e 3R ST e € frend 1 sk 11 feg e ¥ | fRw
T FoF T A g AR o W I a2l 9§
i & @ A Ydd B @, ol R FE-/E
o U T HeA| o STUR T ehETd ®9 § Fehard!
3 /frehed €2 ‘

1) G I

gt TR FT B |

F9 PN TAE ¢ |

ﬁ'ﬂ?ﬁf:

L g SR @a § |

0. 9 F3 K |

(1) e forerd 1 Freera €1

(@) ae fresd 1 e g

(3) Fored 1 @i 11 e e 1

(4) 291 Frsspd 18I 7 & 11 FRe ©
(5) SR el & =R |

ey e it o el gl W & T
forerdy el 7

(1) Od

2 "EdH

3 @9

(4) wamd

34.

(5)

VNATH/G1

35.

36.

If 25t of August in a year is Thursday, then
how many Tuesdays will be there in that
month ?

(1) 3
20 5
Q) 4
(4) 6
(5)  Not Attempted

Two statements are given, followed by two
conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follow/follows from the given statements.

Statements:
All animals are dogs.

Some dogs are dangerous.

Conclusions :
L All animals are dangerous.
1. Some dogs are animals.

Only Conclusion I follows.

(1)

(2) Only Conclusion II follows.

(3) Both Conclusions I and II follow.

(4)  Neither Conclusion I nor II follows.
(5) Not Attempted

Kilometer is related to Distance in the same
way as Newton is related to :

(1) Acceleration
(2) Density

(3) Force

4) Momentum

3?1(7-1%"[ gl %l['&'a (5) Not Attempted _ 9
‘ | age
e o Tere TR / SPACE FOR ROUGH WORK
TH




37. AT sfwen 1 S v W

11,12, 16, 25,41, 7

(1) 65
) 66
3) 69
@) 72
(5) I [N =R |

38. foum = w== wifs
(1) =
(2) TSN
@) Sq
4) TR
(5) ST <A =R |

39. 34k = fiftea Feww 9 ‘COVET’ S ‘FRYHW’
fora1 < €, 9 39 9 § HIDE? &1 = fomn

S ?

(1) KLEF

2) KLGH

(3) KLEI

(4) KGEF

(5) TWTE IR

40. TF AfF IR foun # 4z =t @ &1 9% amad
fewn 4 135° 7€ w1 €, 36F =g efyomad faen |
90° g 11 &1 319 3 e forg faan # 82

37. Find the next term of the series :
11,12, 16,25,41, 2

(1) 65

(2) 66
(3) 69
(4) 72

(5) Not Attempted

38. Find the odd one out:

(1) Ginger
(2) Carrot
(3) Potato
(4) Tomato

(5) Not Attempted

39. If in a certain code, ‘COVET’ is written a:
FRYHW’ then how will ‘HIDE’ be written in th:
same language ?

(1) KLEF
(2) KLGH
(3) KLEI

4) KGEF

(5)  Not Attempted

40. A ma‘n is facing North direction.
135°in anticlock-w

in the clock-wise d
1s he facing now ?

. He turns
1se direction, and then 90
Irection. Which directio®

LI (1)  North-East
@) W (2)  North
(3) wW-ufemm (3) North-West
(4) HfE=m (4)  West
(5) I T <1 =mRd | (5)  Not Attempted
T B o 10 7are / SPACE FOR ROUGH WORK T
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41.

17 A2 M T 720 19 Say roK W W owm e B Aq.

EREERIERURIE JIE LT TR

(1) T 45
(2) TS50
(3) TS5
(4] T 6O

(3) I 9 w1 owmwn

e 45— 28— 37~ (15— ] = 58 B, M x 31 713

. a2,
(1) —29

(2) - 19

3) 19

{4) 29

(5) ST TE < 9ea |

A 791 B 3 FEW: T 22,500 91T 35,000 f1aw &,
o= SIIR T fE 1 27,600 % FA THE B H
T % :

(1) 210,800

2) T14,400

(3) 216,800

(4) T19,200

(5) IO T o WEd |

2 2 R
gz X -l g@ X TY @ARE:
y 3 ==

- 10
(1) 5
P
@

-5
@

-5
@ 5

| GH WORK

7 talla fae § 720, there in a l0ss

~
o
- N
>

t prive of 5 halla The cnat

{2y ¥ a0
3y TS5
(4) 2 60
{3y Not Attempted

If 45— [28 - (37 — (15 -

¥l = 583, then the vaiue

of xis

(1) - 29
(2) -~ 19
3y 19
(4) 29

(5) Not Attempted

A and B started a business by mvesting
322,500 and T 35,000 respectively. Out of s
total profit of T 27,600, B's share s
(1) 10,800
(2) T 14,400
3 16,800
“ 19,200
(5) Not Attempred
If * o l , then the value of »i_————“‘*_— =
y 5 |  — 4
- 10
a7y
5
@ 3
-3
@
-9
“) 3
i ored
(9) Not l\t[cui:—ﬂ_xﬂ#’/m

—

) AT |
sl e ca | SPACE FOR ROUG
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e e o s ol o vt e s

25 TR A1 168 T wet ¥ W ot ) v o
SO

(1) 124
(2) 17
(3) 24
(4) 31
(5) S| < =R |

TR = Y e e e Tl 12 96 # w5 b
T A S © 2

(1) 8%%
2) 8—15%
3) 8%%
(4) 9%%
(5) ST A |

55. 2750 TF 9 9 Theq F T Sel Gl ¢, el 34
20% =1 fae @I €1 afe 384 T 1,600 feudr fr #
3 - T 39 Theq & T SIS ol Afehd e

g7

53.

54.

55.

. he are
& dlagonal and t a of
If the length of ghm and 168 m? respectiyy,

ngle are 2 Cliv
Iﬁi‘;ﬂ t}%e longer side of the rectangle is :

(1) 12m
(2) 17m
(3) 24m
4) 31m

(5) Not Attempted

At what rate of simple interest will a sum
money doubles itself in 12 years ?

(1) 8:11-%
(2) 8—;—%
(3) 8%%
(4) 9%%

(5) Not Attempted

Arun buys a pair of skates at a sale whe
the discount given is 20%. If the amount!
pays isX 1,600, then which of the following
the marked price of the pair of skates ?

(1) 1,280
80
o (2) 1,600
2) %1,600
. 20 3) 1,920
3 %19
) '%2,000 (4) 2,000
4) <2
f (5) Not Attempted
5) S e o = |
- | G 1l 3 fere zaireT / SPACE FOR ROUGH WORK =kl
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56.

57.

Choose the correctly spelt word.
(1) humorus

(2) humorous

3) humoros

(4) humarous

(5) Not Attempted

Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer. i

(1) The cheque is taken from the customer
by the accountant.

) The chequeé was taken from the
customer by the accountant.

3) The customer was taken the cheque by
the accountant.

@) The cheque had been taken from the
customer by the accountant.

(5) Not Attempted

In the following question, the first and the last
of the sentence are numbered S; & Sg,.

The rest of the sentence is split into four parts

and named P, Q, R and S. These four parts are

jumbled. Re-arrange them in correct order.

S; - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

S¢ - education and vocation training

() PQRS
(20 QPSR
3 RQPS
4 SQRP

(5) Not Attempted

Change the following sentence i

speech.

Shakti said to his frien

a snake behind you”.

(I) Shakti told his frien‘ddt(})].look out as
there is a snake behind im. »

(2) Shakti exclaimed to his friend \\;}t{l;
surprise that there could be a sn

behind him. . . _

) Sie]iﬁg a snake behind him, Shakti
ig friend tO look out. .

(4) gil]zii}’;f;rned his friend that there was
a snake behind him.

nto indirect

d, “Look out! There is

60,

61.

62.

63.

ted |
'& Hoslner s eréa;m'{arﬂl SPACE FOR ROUGH WORK

VNATH/ G

Pic
(‘I(vk out the part of the sentence which has an
Tror, |If there ig No error, Your answer is (4)‘

This is the third communication [ have sent /

(A)
and Tam much surprised /

B)

at receiving no answer
(€)

(1 A

(2)  (B)

3)  (©)

(4)  No error

(5)  Not Attempted

Fill in the blank with suitable alternative.
You will not overtake him unless you

(I)  sleep
(2)  walk quickly
(3)  play

(4) reading
(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant .

(1) very large

(2) useless

(3) very comfortable
(4) collapsing

(5) Not Attempted

Find out the antonym of frequent’.

(1) rare
(2) return
(38) fear

(4) alarm
(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

To travel hopefully is a better thing than to
arrive, and the true success is to labour.

(1) rationally

(2)  positively

(3) negligence

(4) carclessly

(5) NotAttempted

Page 15



67.

68.

69.

Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer is (4).

Passengers are requested not to sit on the floor.

(1)  tonot sit

(2) tonot to sit

(3) requested to sit
(4) No Improvement
(5) Not Attempted

HIA-H1 T el FRF 1 I © ?
(1) ™9 we o =it 7

(2) SEA ORI W @i

(3) fedll R wH

(4) ¥YBI WS I

(5) SR <R |

‘T 9 H o/ W I G h {@ifehd g H

et Suge qaiFar e © -
(1) <ifes

(2) St

(3) W

4 o

(5) SR E <A =R |

or G ¥ AT Y T A S T € -
(1) TH

(2) TEH

(3)

@ TEE

(5) TR A S R |

‘W@ﬁ@m%@ﬁgﬁﬁﬁ'wmaﬁ
gﬁzﬁm%:

(1) mmm

(2) !

@) WWW

70.

T1.

72.

73.

74.

75.

mmmﬁmﬁwwmwﬁ%?
(1) T S ot o1 SR e € ‘
(2 T W AH RE

@) = R H T wE

@) el § g e e

(5) S T o A |

forr T TEeT UE W &, 38 Fed € -

(1) HHaA

(2) e

3 51

(4) FFRYE

(5) SR T o =R |

few g o ferehed 4 a1 1 5 I8 2
(1) glgH

2) S=Ed

(3) T

@) A

(5) ST =R
‘T IR Hedn & of" Sl g’ & fae saifus Suge
T UK ¢ -

(1) Tyfa
(2) TERT
(3) TR
(4 ™

(5) ST TR <A =R |

“Fr.+omEn’ & AN Y T e HaiUES SUgE v
3

(1) Temm

2) Tremem

(3) fwmm

4) TrRemRN

(5) S TE & A |

;ﬁﬁnﬁ?ﬂﬂ W,WWW’&WW ayef
(1) e S=Hd HT

(2)  OTEE i A
(3) ST Sl A IS

(4) fert v | A 4|

5) SRHMT@

()

VNATH/G1

>t Tl b TeTC Tt/ SPACE FOR ROUGH WORK
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76. TREON H fRw @ ¥

) 21
2) 22
@) 23
4) 24

(5) ST !

7.
A HR- T wE )

U TTeq s (WA w3 5f) % wasy o fyefafag

76.
(M
(2)
(3)
(4)
(5)
.

How many districts are there in Haryana ?

21
22
23
24

Not Attempterl

Congider the following statements in respect
of National Security Guards (NSG) -

A [ TE S w wmee TN g 1 ) (A) f\)’z(;r:i;r;nal Headquarter of NS(; is in
B) T T S F T e ¥ i ¥ (B) NSG comes under the control of Union
Wﬁ%ﬁq—m/ﬁwuﬁ%/%? Ministry of Home Affairs.
(1) éﬁa(/\) Which ’of the above statements is/are
correct ?
B ) (1) (A only
@) (&) R (B) @ (B)only
(@) AW (A) IWAF (B) (3)  Both (A) and (B)
(5) ST TR (4)  Neither (A) nor (B)
(5)  Not Attempted
78. = ¥ 5w w1 ¥ yiug woge B9 @ smEee
eI e g2 78. In which month of the vear, the famous
1) = 21;:}2;(:?(1 mela is held everv vear in
(2) e (1) March
(3) SFHRS (2) December
(4) wE= (3)  October
(5) TR ST ERd | (4)  February
(5)  Not Attempted
79. THEIIRd F1el § gfErn % fau farm ve @ sy fipey
mME? 79. In the Mahabharata period, which term was
1) used for H-aryana ?
(1)  Haribanak
(@) g (2)  Bahudhanyakya
(3) T (3) Hariyala
4) [iecy (4)  Haryanak
(5) SO e &A1 e | (5)  Not Attempted
VNATH/ G1
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80.

81.

82.

83.

/H’

S W g = 2 % fom ufgad 2

TRV T S ¥, v e o i
o VRIS ¥, v e ) i g waam
TR HERT w o o

() S e
(2} =9 e
(3) W TEeTy
4) 9 Teem
O) S FE =Ry

ﬁqﬁaf@aﬁﬁaﬂqﬁﬁmmmaﬂwm,aqaﬁt
TSI 53 2

(1) =it e o

(2) sStiFRT=

3) =TS S wA
(4) o T SR
(5) Wl <A AR |

T HIA Fiasiiel A A g et St
Y-7d T Y FE FE g Tasia fmam =l sifsfa
fEm S g?

(1 2
@2 3
3 4
4) S
(5) =7 el <A1 =ed |

ﬁﬂﬁ#ﬁaﬁﬁﬁaﬁﬁmqa{maﬂmq&‘??

@) A
@ AR
(5) el

80.

81.

82.

83.

romote the ancient Heritage of Pir_ljore,
held every year. One is the
which is the secong

To p
two festivals are 1 V!
Pinjore Heritage festival’,

one ?

(1) Orange festival
(2) Dates festival

(3) Mango festival
(4) Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1)
(2)

Shree Anil Vij

Shree Kanwar Pal

(3)  Shree Mool Chand Sharma
(4) Shree Dushyant Chautala
(S) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

1y 2
2 3
B 4
@4 S
(5)  Not Attempted

Which amongst the f N
: ollow
of Haryana ? lowing is the State Tre.

(1)

Banyan Tree

(2) Sacred Fig
) Mango Tree
) Sal Tree

(5)

Not Attempteq

75 feru zarst / SPACE FOR ROUGH WORK
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84. Trfdfes seri w fer #if -

84. Consider the following statements :

Rohtak has a Police Commissionerate

&) e H e st fer 2 )
(B) U H gferw ST e 3 located there. .
S A e s o
(1) aﬁ_(:"(A) ‘ Which of the above statements is/are
2) wHaa (B) correct ?
@ = ih A (a;n 1@ % B)ony
) (B) (3) Both () and (B)
(5) ST <1 =ed | (4) Neither (A) nor (B)
(5) Not Attempted
85. fod 9 2022-23 % ferw, 2famn w7 & @R ¥
faq o1 =13 =1 T whrem eneifeq fovar T 72 85. For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
2) 6.2% towards Health in the Haryana State ?
(3) 8.5% (1)  14.2%
4) 5.8% 2) 6.2%
(5) ST T < = | (3) 8.5%
4) 5.8%
86. freifufiaa Fodl W famm wifg : B)  BetAtEmpted
(A) ErFYd 3R FeR S i fooeht & @Y ot _ ,
3 86. Consider the following statements :
®) : <5 T J 78 ot 2 (A) lSj(:{l}il}i).at and Jhajjar share border with
STH H § -9/ FAAGE ©/8 7 (B) Rohtak does not share border with Delhi.
(1) %aa (A) Which of the above statements is/are
2) S correct ?
( S (1) (&) only
(3) ()3 (B) S (2) (B)only
(4) T (A) ARTE (B) (3) Both (A) and (B)
(5) S E MR (4)  Neither (A) nor (B)
(5) Not Attempted
g7. R fRd T W SiAa § 2
' (1) TR 87. Neemrana comes under which State ?
2) efarom (1) Rajasthan
; (2) Haryana
(@) . v . (3) Punjab
(4) ) (4) Uttarakhand
(5) IR & | (5) Not Attempted
B Page 19
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88.  wferon o A o T Y TR EE 8 7

(1) 8

2 7

3) 6

4 s

(5) WA T EEd)

89, ﬁqﬁq@mmmm
(B) =1 wfea Tegrr v A R
B) el wifew pegw www @ & 7@ WE
1 R BT d o wd ¥

(1) é?aﬁ(A)
(2) aﬁH(B)

@) (a) 3k (B) I
4) qFﬁ(A) 3;71-{:{_@(}3)
(5) W?@‘é?ﬂm |

9 . '
O. T et & wreefrr e e forvaiferamera oot 2

(1) g
()  TEum
B) wiTERE
(4) =™

(5) STl < =R |

91. EfEw Wit Iy Swig Wi GRESA ghEmn % e

IEEE: R
(1) =X
2) fon
(3) fear
(4) T
(5) wq’aﬁﬁﬁrﬁal
oa, e s o A
(1)
(2)
o et
4
) Wq—gfamvmﬁl
(5) o 5 fere 2/ S

88.

89.

90.

91.

92.

‘How many Ra&J

ya Sabha seats does Haryana

have ?
1 8
@ 7
3 ©
4 5
ES; Not Attempted

Consider the following stateme%'lts _: |

(A) Nada Sahib Gurudwara 1S situated in
Ambala. o

B) Nada Sahib Gurudwara 18 situated on
the bank of river Ghaggar.

Which of the above statements is/are

correct ?
(1) (A)only
(2) (B) only

(3) Both(A)and (B)
(4)  Neither (A) nor (B)
(5) Not Attempted

In which district is the Indian National
Defence University located ?

(1) Panchkula

(2) Gurugram

(3) Faridabad

(4) Karnal

(5) Not Attempted

?ndira Gandhi Super Thermal Power Project
is situated in which district of Haryana ?

(1) Jhajjar

(2) Sirsa
(3) Hisar
(4) Jind

(5) Not Attempted

Garima C :
sport ?a haudhary is well known for which

(1) Judo
(2) Kabaddi
(3) Wrestling
(4)  Archery
(5)  NotAttempted
PACE FOR ROUGH WORK m



3. frreferfam & | forert gREmn = M A h gt # | 93 Who amongst the following did not play for
& Qe 917 Haryana in Ranji Trophy ?
(1) AR fe (1) Maninder Singh
2) FHiged < (2)  Kapil Dev
(3) SRS (3)  Rajinder Goel
) [LHR dear (4)  Sarkar Talwar
(5) W el 1 =R | (5) Not Attempted
)4, ARAR [Rd o g fem 2 94. In which district is Narnaul situated ?
' (1) IS (1) Jind
2) A (2)  Kaithal
3) WG (3) Mahendragarh
( 4) T (4)  Rohtak
tsz I T & W | (5)  Not Attempted
frfafaa § @ i@ 3 \ c i i Haryana
1 FI -4l et Hardt | 95.  Which of the following dance Ijorms of
& Sea gli £ T is associated with Mewati tribe ?
e . (1) Dhamal
@ o] (2) Ratvai
" _ (3) Phag
:j: ;I"Tn (4) Gugga
5 Not Attempted
(5) SRR TR A1 =R | )
96. TR ‘HEIRa’ % T FAE? 06. Who was the author of epic Mahabharata’ ?
Fifeerd (2) Kalidas
- qgﬁarﬁﬁﬁ (3) Maharishi Valmiki
b i -a'aaqm(f 4) Maharishi Vedvyasa
o 1 = ed (5) NotAttempted
[
(5) W
Frferf ;& 2 BT ¥ THE H Sced ich one of the following is not amongst the
/- A9 * o7 rwn:lljlgr cootton growing districts of Haryana ?
i A TH T 8 ? ) Sirsa
(1) (2) Sonipat
(2) 3) Ambala
(3) @) Rewari
(@ W . (5) Not Attempted
(5) W & I GH WORK Page 21
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98,

99,

100.

AL
e o LS (S ) it e
(A) WWW

B 5 <
o Aoy, o R E A @R
) WS 5 .

RSASH

sfir 3 T & & S T @ h A
ﬁklﬁﬁﬁ:{-m/-@wgﬁ%/%7
(1) a
) ®)
(3) (A) 3R (B) 27
(4) BES| (A) 3:?'-{:[_@ B)
(5) Wq—éhml
taﬁ%’mugﬁ'qmnﬁmﬁm_%7
(1) =g
(2) wfean
3) =™
(4) ¥R
(5) ST TR & W |
sﬁﬂmﬁn’r‘éﬂaﬁmgﬁﬁmmﬂt%ﬁmmﬁ
gl ST S 2
(1)
(2) Tl
@
L T |
(5) L

.o0o0-

98.

99,

100.

Consider the following statements about Gross
State Domestic Product (GSDP) :
DP of Haryana is more than that of

(A) GS
Bihar.

(B) GSDP of Punjab is more than that of
Haryana.

Which of the above statements is/are

correct ?

(1) (A)only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

(5) Not Attempted

‘Ottu’ barrage is on which river in Haryana ?

(1) Yamuna

(2) Sahiba

(3) Tangri

(4) Ghaggar

(5) Not Attemptéd

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) Forehead

(3)  Foot

(4) Nose

(5)  Not Attempted

-00o0-
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